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CSS defines how to display ____________ elements.
HTML

In the OSI model, Layer 2 is ________________
Data Link

A communication protocol used by Internet is __________.
TCP/IP

Which one of the following is not an application layer protocol used in internet?
resource reservation protocol

Which one of the following tags makes text bold?
<bold>

What is the process of transmitting data from one device to another called?
communication

The following are application layer protocols used in internet EXCEPT?
resource reservation protocol

In the OSI model, Layer 6 is ______________
Presentation

LAN stands for Local ____________ Network.
Area

Which option is an equipment needed to allow home computers to connect to the 
Internet?
Modem

CLICK TO DOWNLOAD MORE TMA PQ
Join group: T.me/NOUNSTUDENTSFORUM

Whatsapp: 08089722160 or click here for TMA assistance

Practice  E-exams & Chat with course mates on noungeeks.net

A-PDF Watermark DEMO: Purchase from www.A-PDF.com to remove the watermark

https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

